2 ' QP Code : 8451

) Explam 'thh neat sketches the following:" il e Qo
i) Rocktoe (i )Honzontal drdinage blanket (in) cut-off (1v) Rlp-rap '
QD Write short notes on : L T : a - (20)

@) Dralm__ige galleries | |

(ii) Losses of t.{va:ter in canals o i
(iii) Sprinkler irrigation . ey

(iv) Life of reservoir
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© NB. (@) Questlon No.1is compuisory :

@) Artempt any Four Questlons out of Six Questxons
(1i1) I]lusuate with figures wherever necessary

(W) Assume smtable data if necessary and state it clearly

Q1. Explam the followmg i £ Sl C L (20)

i) Determination of average ramfa.ll over a catchment
if) 11l effects of irrigation - :
~iii)  Well development
' iv) - Relation between duty and delta -

r

Q. 2a) The culturable commanded area of water course is 120 hecta.res:‘ intensities of sugarcané

- and wheat crops are 20% and 40% respecuvely The duties for the crops at the head of water

course are 730.ha/ cumecs and 1800 ha/ cumecs respectively. Find (1) the discharge required at
‘head of the water course (u) determine. the de31gn dlschar.gr. at the outlet assuming a time
factor of 0. 8 S : i g (10)

bA 3-hour storm produced a flood hydrograph and the, bbservanons were at 3-hour intervals,
staring from zero hour.The observed discharges (curaecs) are 4, 9, 12, 18, 20, 16, 20, 10, 8, 6,

* 4. Assume constant base flow 4 cumecs, detenmm, unit hydrograph ordmates The catchment
area is 50 sq k. ' ' , ¢ L o

Q.32) Denve the equation for dlscharge from well in an unconﬁned aquer o (10) -

" b) A30 cm dia well penetrates 20 m belﬂw the static water table After 24 hours of pumping

at a rate 5000lt/minute , the water leve! i a test well at 100m is lowered by 0.5 m and in a well
30 m away the drawdown is 1.00m. what is the transmlsmblhty of the aquifer? Also determme
the drawdown in the main well. . _ . . (10)

1

Q. 4a) Explam the foundatlon treatment forgraﬁty dams.. - . S (10)

- b) a concrete dam can be & ssumcd tobe u'apezoldal in section having top width 2m and bottom

width 10 m. height of d.u:n 15m and its u/s face has a batter of 1: 10. Check the stability of .

dam in the full reservois condition assuming no free board allowance. Consider uplift pressure
. withi mtensny factor 100%. Also determine stresses at toe and heel. Assume weight of concrete

24 KN/m?>, unit shear strength of concrete 14 Kg/ m?, and coefficient of friction between

_concrete and fopdation soil i is 0.7. . . - (10) .

- Q Sa) Ex“la.n different types of spﬂlway gates. . o . - (10)
b) Dr';w 1,hc elementary profile of gmwty dam and explain the prooedure for detcnnmmg base

. width of elementary proﬁle of a gravity dam | . (10)

, Q.Sa) Explain the various causes of failure of earth dam. ' I - (10)
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